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YUANZE RELAY
Everybody benefits from Yuanze products
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. NO: 30A 14VDC
BEL 1 $ 30A 14VDC NG, 25A 14VDGC
RBAVHBER 30A 30A
RAYHEE 30VDC 30VDC
RAYHINER 420W 420W
HaESH
i s A A3 BEE
& fih B8 BE 100 mQ Max.
R & B 8] 4msec. Max.
T i B 1] 2msec. Max.
PN 100MQ Min.(DC500V)
S 5aAE: AC500V, 50/60Hz 1min.
IR fil 5 54 B iE: AC500V, 50/60Hz 1min.
MR finiE E6g 10HZ-500HZ
i fni%EE30g 6ms
MiiES | 5,000,000 %
Eé PR M2 % 300,000 20A 13.5VDC
MWRIEH: 300,000 25A0n; 5A OFF L=1.0mH
BSFA | BHSE: 100,000 20A 13.5VDC L=0.77mH
KT S 3(% FF): 100, 000iR @A 100A ,FaE FLifi10A
AT gk (EFF): 1,000,000 3X21W
IRERE —40C ~+125C(R% )
£ AR : 294.0g(F Lk FEER); £98.0g (W 4k FE2])
KE S (at 20T)
HE B E bt KEEE |BAESNMMBEE BREBRE | BHRE %
(VDC) £10% (MA) | £10%(Q) | 23C | 85T (Max.) (Min.)
6 95.24 63 13.2 7.8 35 0.8
10 55.25 181 22 13 5.7 1.25 40.55W
12 47.24 254 26 16 6.9 15 20.55
24 23.62 1,016 53 31 13.8 3.0
12 66.30 181 22 13 6.9 1.5 #0.80W
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